Exam.Code:0001
Sub. Code: 0028
2041
B.A./B.Sc. (General) First Semester
Journalism and Mass Communication
Paper: Introduction to Mass Communication — I
(In all mediums)

Time allowed: 3 Hours ' . Max. Marks: 70‘
NOTE: Attempt five questions in all, including Question No. I which is compulsory
and selecting one question from each Unit.
X-X-Xx

I Attempt any seven of the following in about 50-75 words each:-

a) Dyadic communication
b) Group Communication
c) Lasswell Formula

d) S-R model

e) Nationalist Press

) Press in modern India
g) Freedom of Press

h) TV Industry

i) Mass Audience
1) Growth of New Media (7x2)
| UNIT -1
II.  Differentiate between inter and intrapersonal communication. (14)
III.  Define and explain the concept of Mass Communication. (\14.)
UNIT -IT
IV.  Discuss Schramm’s model of Communication. | A 14
V.  Discuss the Mathematical Model of Communication. ‘ (14)
UNIT — 11
VL. Discuss the Early Press History in India. : (14)
VII.  Explain the rol¢ of Press during emergency. - (14)
UNIT — IV

VIIL.  Is print industry on the verge of closure? Explain by giving overview of print

industry in India. (14)

IX. * Discuss the Radio Industry in India. (14)

X-X-X
(Hindi and Punjabi versions enclosed) »
P.TO.
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